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3% Choose the best answer to fill in the blank.

1. A: Was your medical procedure very painful?

B: Yes, | was in , but luckily it only lasted for a short time.
(A) agony (B) stream
(C) clue (D) riddle

2. A: Bob is taking a long time getting here. Do you think he got distracted by looking at the

sights?

B: Probably. It's hard not to at all the tall buildings when you are in New York.
(A) peek (B) watch

(C) see (D) gaze

3. A: Murray seems really dedicated to doing well in business.
B: Yes, he has a lot of
(A) ambition
(C) attention

(B) definition
(D) detention
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